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loop-
continuation-
condition?

Statement(s)
(loop body)

(a)

false

while (loop-continuation-condition) {
/ Loop body
Statement(s);

}
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count = U:I
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(count < 100)7 false

true

| System.out.println("Welcome to Javal!");
count++;

(b)

loop-continuation-condition
int count = 0; ‘//’///J

while (count < 100) {
System.out.printIn("Welcome to Java!'); loop body
count++;

} (b)
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int sum = 0, 1

while (1 < 10) {
sum = sum + 1;

1;

T4+;
}
System.out.printin("sum is " + sum); // sum s 45
1) g
Cuu) dla SUM Ia8a g 39 oo IS Ly dia 4Bl 5 S 0

int sum = 0, 1 1;

while (i < 10) {
sum = sum + 1;

}
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import java.util.Scanner;
public class Average {
public static void main ( String [ | args) {

Scanner input =new Scanner ( System.in ),
mt i=1;
double sum =0.0;
int n = mput.nextint ( );
while (1<=n){
double x = mput.nextDouble ( );
sum = sum + X;

1+t

1
il

double avg = sum / n;
System.out.println ( "avg=" + avg );

000000000000000000000000000000000000000000



il gda 529,90 ) maa A G AS gl lali 1]l

\YY=V\4+Y 4+ VY .JJJ‘MJ‘L)UQ‘@AJ‘&A@

1za| 10
- 120
x =123 12 | 10
3 10
5 1 10
1

@ import java.util.Scanner;
public class SumDigit {
public static void main ( String [ | args) {
@ Scanner nput =new Scanner ( System.in );
int sum = 0;
int n = mput.nextint ( );

DJ.’L’IS?:A;.

while ( n1=0){

mt r=n% 10 ;
sum = sum + 1;

n=n/10; // n/=10;
!

}
@ o ; System.out.println ( "sum=" + sum ):

yes

e

:

fe—n-int (n /10)*10
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n «1nt (n/10)
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mmport java.util. Scanner:
public class SumEvenDigit {
public static void main ( String [ ] args) {
Scanner mput = new Scanner ( Systeim.in ):
mt sum = (0
mt n = input.nextint ( ):
while ( n1=0 )
mt r=mn% 10
if (r % 2 ==0)
sum=sum-+r;
n=n/10; Wy n/=10;

System.out.println ( "sum=" + sum );
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1 dimport java.util.Scanner;
2
3 public class SentinelValue {
4 /*% Main method */
5 public static void main(String[] args) {
6 // Create a Scanner
7 Scanner input = new Scanner(System.in);
8
9 // Read an initial data
10 System.out.print(
11 "Enter an integer (the input ends if it is 0): ");
12 int data = input.nextInt();
13
14 // Keep reading data until the input is 0
15 int sum = 0;
16 while (data != 0) {
17 sum += data;
18
19 // Read the next data
20 System.out.print(
741 | "Enter an integer (the input ends if it is 0): ");
22 data = input.nextInt();
23 }
24
25 System.out.printin("The sum is " + sum);
26 }
24 %
Enter an integer (the input ends if it is 0): 2 |-ewer
Enter an integer (the input ends if it is 0): 3 |—eue
Enter an integer (the input ends if it is 0): 4 |-ewe
Enter an integer (the input ends if it is 0): 0 |-eue
The sum is 9
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import java.util.Scanner;

public class Test {

public static void main(String[] args) {
Scanner input = new Scanner(System.in);

int number, max;
number = input.nextInt();
max = number;

while (number != 0) {
number = input.nextInt();
if (number > max)
max = number;

}

n

System.out.printin("max 1is
System.out.printin("number

+ max);
+ number);
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int i =1; int i = 1; int i = 1;
while (i < 10) while (i < 10) while (i < 10)
if (%2=0) , if (i %2 =0) if ((i++) % 2 = 0)
System.out.printin(i); System.out.println(i++); System.out.printin(i);
(a) (b) (c)



